
Part I 

(20%) =. 3 yi=SRF;fjf9y ci=SE%B, ?$U, ii3BHE~EB%S@i% 

E; +BRS%--B@9BEZSR t . S R . d t ~ ~ ~ W T P W : B 3 ~ ~ ~ M ,  EJ 
zu $Ea#$$ZB(Ricardian equivalence proposition). SZg%@.lBg$rJT% 

'!@?J~%~, db~@%!&!?,~%? $i$Hm?%%%!!fl'!lM%8% . (3 x - = @ % @ ~ ~ $ I ~ % )  

(20%) ,. @4--Sfi$@ Y=A F(N,K) E Cobb Douglas a, 3fq Y 593&7m, 

A=4, %a(~)%B*(K)%E&m3I%Ea: 0.5 , x N mmwa 0.2 , B*# 
' tfiE%E 0.1 ; ZFH Solow ~Eg@B8TT!JMB: 

1. BBS%E 0.3 , RUEEmESY A%'BS%Ff ? 

2. @%$$%?A&!& ~BESY!&f&%@!3(GoIden rule state). 71& 1 ~~~~~ 
%fiUliTSi%G 2 rxJmW&X%Z? 3Ei%@.lf-@$EBBE ? 

3. S Solow B@!MZm2E~W~By PABN 1 93 2 @if;B%li?E . 



4. %!El E # I ! ! ! % ~ ~ ~ ~ ~ Z  Robert Solow ~ ~ ~ m ~ ~ S j  +f&T-FT!J@J@E : 

Over the years we have weakened those [automatic] stabilizers. We've weakened 

them by, for good or evil, diminishing welfare and other transfer expenditures .... 

The beauty of these automatic stabilizers was that they didn't depend on the stupid 

Congress getting its act together. It just happened. It wasn't exactly a policy rule but it 

operated almost as if it were. And so one of the things I think we could do right now is 

to go back and try to find ways of strengthening those automatic stabilizers again. 

("An Interview with Robert Solow" by D. Clement, The Region, September 2002.) 

4.1 ( 10%) "automatic stabilizers"? ~$33&9-~3#32 o ( ~ j & - # ! j ~ 7 f f 2 j - ~  ) 

4.2( 10%) &# Solow %,a "We've weakened [automatic stabilizers] by . . . diminishing 
welfare and other transfer expenditures." ? sE$$&j%FJf#@ o 

4.3 ( 10% ) I&%& Solow %R&E@ti.gBS,%,RF$mBffiR%B%FJ rules vs.' 
discretion+i&@RflS&& ? ZEkl &m ? 

5. ( 5% ) If a consumption function C = f (Y) , where C is consumption and Y is disposable 

income, which satisfies Keynes' "fundamental psychological law": 

The fundamental psychological law, ... , is that men are disposed, as a rule and on 

the average, to increase their consumption, as their income increases, but not by 

as much as the increase in their income." 

(J.M. Keynes, General Theory, p.96). 

What property should the function f have? 



6. ( 5% )True or false? Suppose that there is a freeze in Florida destroys crop of oranges, hence 

the price of oranges in the US rises. According to the permanent income hypothesis, 
California orange growers save more. ( $j@@?f$F$t% ) 

( 10% ) Derive the Phillip curve fiom the AS function = 7 + a(< - 4') . According to 

your Phillips curve, will an inflation shock causes a permanent reduction of 
unemployment? 


